
SALES & ENGINEERING DATA

1" NON-METALLIC DIAPHRAGM PUMP (DP31)

SPECIFICATIONS:

Air In let(female): 1/4"BSPT(1/4"NPT Avai lable On
Request)
Fluid Outlet(female): BSP1 ", 1 "NPT,Or 1"
ANSI/D IN Flange
Fluid Inlet(female): BSP 1", 1"NPT ,Or 1"ANSI/DIN
Flange
Maximum Flow Rate: 47GPM (177.9LPM )
Max.Operating Pressure: 120psi(8.3bar)
Suspended Solids Max. Dia.: 1 /8"(3 .2mm)
Maximum Dry Suction Lift: 15feet(4.6m)
Weight: 20 .3 Ibs (9.2kg)
Sound Level:70psi  60 cycles/m in .  64 .5db(A)

MODEL DESCRIPTION & ORDERING:

25DP31 X X X X X X X

Center Body BallCheck FluidF lu id Caps & Seat D iaphragmPump Size Hardware
Mat. Manifold Mat. Mater ial Mater ialMateria l Connections

25-1 "Pump Size
A-Alum inumCente r Body Mat. P-Polypropylene

Fluid Caps
Manifold Mat. 3 -Polypropylene 4 -PVDF(Kyna r)

2 - 316 Sta in lessSeat
3 - Po lypropylene 8-Hard Stainless Steel4-PVDF(Kynar)Material Steel

3 -Viton1 -Neoprene 2-N itrile 4-PTFEBall Check
Material

5-E.P.R. 8-Polyurethane C-Hytrel E-Santoprene

2-Nitrile1 -Neoprene 3-Viton 4-PTFE/SantopreneDiaphragm
Material

9-Hytrel5-E.P.R. 6-Composite PTFE B-Santoprene
F luid Connections N -NPT Threads B-BSP ThreadsF-ANSl 150 Flange

Hardware S-Stainless Steel

ACCESSORIES:

Service Repa ir K its :
DP31 -Air25(air sect ion)
DP31-Flu25P-XX(fluid section)

Diaph ragm Mater ia l
BallMa terial

1"NON-METALLIC DIAPHRAGM PUMP(DP31)
0nuodeanfluid.com I DP Series D iaphragm Pumps I sales@nuodeanpump.com 1



SALES& ENGINEERING DATA

1" NON-METALLIC DIAPHRAGM PUMP (DP31)
DIMENSIONS: Ma terial Out le t1" ANSI Flange8 - 1/1 6 ” (204mm ) 12-21/32 ” (321mm )15/16“(123mm) Air In le tOutlet 1/4 ” NPT & 1/4” BSPAvailable

16“ (406mm)

NUODEAM 13- 2 5/32"
( 34 9mm )

叫

中

Inlet5-1/32”(128mm) 2-3/8” (60mm) 7/16 “ (11mm)
6 -9 / 32"(160mm Material In let10-1/16“(255mm) 1” ANS  F lange

1/2”(13mm )
Dimensions shown are for reference only .they are displayed in nches and milimeters mm)

臣

14 -5/16”(364mm)
3- 1/8“(79.3mm)

PERFORMANCE CURVE:

空
业

指 阳PS i 4.9 14.8 19.8 29.7 39.6 44 .5 AIR CONSUMPTION IN SCFM AIR CONSUMPTIONIN LTERSTSEC4.9 7 9 15,8 19.8 21.7上 125F 100Performance based on waterat ambient temperature Perlgrmance hesnd an wterat ambient tempe rature
250十100 880+

T 0
T A

0
s

c
H

v
B

E
生

E N
D

200+ 83 BAR75 660 + 12NPSH, NPSH₁6.9 BAR150+ 匿
+

等
程

丁30
4.8 BAR

50 25 40+E
时

M
 D

旧 i n
0

3
5

N

4
+20100
1 2 .8 BAR225| 20+50+ +10

Io
500上 000 10 20 30 40 0 160 20040 80 120FLOW RATE (LTERS/MIN)CAPACITY IN U.S.GALLONS PER MINUTE

1"NON-METALLIC DIAPHRAGM PUMP (DP31)
02nuodeanfluid.com I DP Series Diaphragm Pumps I sales@nuodeanpump.com



SALES& ENGINEERING DATA

Exploded View Of Air Motor Section

1"NON-METALLIC DIAPHRAGM PUMP (DP31)

03nuodeanfluid.com I DP Series D iaphragm Pumps I sales@nuodeanpump .com



SALES&ENGINEERING DATA

Parts List Of Air Motor Section

Posi t ion
Description Part numbe r Material Quantitynumber

Retaining R ing 32 NDA
-
PN120 Stainless Steel102 1

103 Va lve Cap NDA
-
PJ69 Aluminum 2

Nitr ile 2104 O-Ring 28*1.8 (ID*Sec) NDA
-
PY27

105 NDA-PW22 Nitr ile 1Y Type Sea l 32*24*4.5
POM106 Piston NDA-PK141 1

107 1Spool POMNDA-PK142

108 Y Type Sea l 23*15*4.5 NDA-PW29 N itri le 1

109 1Guide Bush NDA-PK143 POM

110 Valve Body NDA
-
P169 Aluminum 1

POM 1111 Guide Bush NDA-PK144

NDA
-
PX72 4Steel

112 Screw M5*50
4Stainless SteelNDA

-
PX73

113 Bigger Va lve nse rt 1NDA-PK168 Ceram ic

1114 Bigger Va lve P late NDA-PK169 Ceramic

115 Gasket NDA-PK170 N itr ile 1

Gasket Nitr ileNDA-PK171116 1

117 Adapter Plate NDA-PK172 Aluminum 1

Gasket Nitr ile118 NDA-PK173 1

119 Gasket NDA-PK174 N itr ile 1

Valve P late NDA-PK175120 1Ceramic

121 1Valve Insert NDA-PK176 Ceramic

NDA
-
PX74 Steel 4

Nut M5122
NDA

-
PX75 4Stainless Steel

Aluminum123 Pump Body NDA-PA70 1

NDA-PY28 Nitrile 2O-Ring 22*2.5 (ID*Sec)124

125 2Guide Bush NDA-PK177 POM

Y Type Seal 17*10*4126 NDA
-
PW30 N itr ile 2

127 Spool NDA-PK178 1POM

128 2P ilot Pin NDA-PK179 Stain less Steel

129 Retainer R ing NDA-PK180 POM 2

130 O-Ring 5*1.5 ( ID*Sec) Nitr ile 2NDA-PY16

Nitr ile131 Gasket NDA
-
PF88 1

132 Bush POM 2NDA-PG71

133 2Y Type Sea l 27*19*4 .5 NDA
-
PW31 N itri le

NDA
-
PB117Left Air Cap Aluminum134 1

135 O-R ing 6*1 .2 ( ID*Sec) NDA
-
PY29 N itr ile 8

Steel 8NDA-PX76136 Screw M6*25
NDA

-
PX77 Stainless Steel 8

Nitr ile137 Gasket 1NDA-PF89

138 NDA-PB118 AluminumRight Air Cap 1

139 Muffler 93110 Assembly 1

Nitr ile 1O-Ring 32*2 ( ID*Sec ) NDA-PY30140

1" NON-METALLIC DIAPHRAGM PUMP (DP31)

04nuodeanfluid.com I DP Series Diaphragm Pumps I sales@nuodeanpump .com



SALES& ENGINEERING DATA

Exploded View Of Fluid Section

1" NON-METALLIC DIAPHRAGM PUMP (DP31)

05nuodeanfluid.com I DP Series D iaphragm Pumps I sales@nuodeanpump.com



SALES&ENGINEERING DATA

Parts List Of Fluid Section

Part List I Flu id Section | 1" DP31 Non-Metallic D iaphragm Pump

Po sit ion number Pa rt number Mater ialDescription Quant ity

NDA-PD77 11 Rod Stain less Stee l

2 2O-R ing Y328 -14 PTFE

23 Plate-Air Side Nicke l-p lated Steel93441-2

24 92973-BBacker D iaphragm Santoprene (Green)
290533-1 Neoprene

290533-2 N itri le

290533-3 Viton
5 Diaphragm

293459-4 PTFE

290533-9 Hytrel

90533-B 2Santoprene (Yel low)

2Po lypropylene93239-1-M
6 Diaphragm Nut

293239-2-M PVDF

87 Bo lt (1/4" - 20× 1- 1/2" ) Y84-403 -T Stain less Stee l

8 Nut (1/4” - 20) 8Y12-4-S Sta inless Stee l

2Po lypropylene93235
9 Fluid Cap

2PVDF93235-2-M

10 Sta inless Stee l 16Washer 8 NDA-PX27

NDA-PX2811 Sta inless Stee l 12Bo lt M8x55

4Bo lt (3/8"-16× 1-1/2") Sta inless Stee lY6-67-T
12

4Bolt M 10x40 Sta inless Stee lNDA-PX29

813 Washer 3/8" 93360-1 Stain less Stee l

PTFE(Capsu le Type) 893281

O-Ring (ID+Sec.347÷4) 893279 E .P .R14

8Y327 -220 Viton

PTFE(Capsu le Type) 493282

O-R ing ( ID*Sec.54.36*3 .8) 415 93280 E .P .R

4Y327-225 Viton

2Po lypropylene93238
Swivel16

293238-2 PVDF

2Po lypropylene93236
17 Manifold, Outlet (Top)

293236-2 PVDF

2Po lypropylene93237
Manifold, Foot (Bottom)18

2PVDF93237-2

19 16Nu t M8 NDA-PX12 Stain less Stee l

8Clamp20 93283 Stain less Stee l

4Neoprene93278-1

493278-2 N itr ile

493278-3 Viton

4PTFE93278-4
21 Ball (31.75mm d ia . )

493278-8 Po lyurethane

493278-C Hytrel

493278-A Santoprene (Ye l low)
492408 Sta inless Steel ANSI316

494707-1 Po lypropylene
22 PVDFSeat 94707-2

4Stain less Steel96151

23 O-Ring 2Y328-112 PTFE

Bolt (3/8"- 16×2-1/4”) 4Y6-610-T Stain less Stee l
24

4Bolt M 10x55 Sta inless SteelNDA-PX30

25 Sta in less Steel 4Bolt M 8x115 NDA-PX78

1”Plastic Plug Plastic 226 NDA-PU09

1/4" Plastic Plug 1P lastic27 NDA-PU11

1" NON-METALLIC DIAPHRAGM PUMP (DP31)

06nuodeanfluid.com I DP Series Diaphragm Pumps I sa les@nuodeanpump .com


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

